R:\Clients\Wincore PERMANENT\A - Florida Product Approvals\FL-15817 Vinyl Outswing Casement Window\C - Drawings\Current\FL-15817.1-3.dwg, FL-15817.2

™

¥ R
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

8800 Series
Vinyl Outswing

Casement Window
"IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 6th Edition
(2017) Florida Building Code (FBC) structural requirements excluding the "High
Velocity Humicane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debiris protection this product
complies with FBC Sections 1609.1.2 & R301.2.1.2 and does not require an
impact resistant covering. This product meets missile level "D" and includes Wind
Zone 4 as defined in ASTM E1996 and FBC Sections 1609.1.2.2 & R301.2.1.2.1.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction. '

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures and general notes

Horizontal & vertical cross sections

Horizontal & vertical cross sections

Buck and frame anchoring

DB |WIN|—

Bill of materials, components and glazing details

36" O.A. FRAME WIDTH

72" O.A. FRAME HEIGHT
65.54" D.L.O. HEIGHT

29.54"D.L.O.
WIDTH
7
a
/
X
/
Va
/

MEN

36.0" X 72.0"

29.54" X 65.54"

G2

G3

ROR-- @
@NAL ‘%'\‘\\\“

P.O. Box 230, Valrico, FL 33595

Phone No.:

e

STATE OF
vor: LORIR:
S,

S
//I

/
]

%
BUILDING CONSULTAN

813.659.9197

v,
~
7z,

Documents Prepared By:Z

Lyndon F. Schmidt

Ry

FBPE C.A. No. 9813

8800 SERIES

TYPICAL ELEVATION, DESIGN

Vinyl Outswing Casement Window |P-E. No. 43409
PRESSURES & GENERAL NOTES

PRODUCT:

JK | PART OR ASSEMBLY:

LFS

LFS
BY

6/01/17 |UPDATE TO 6TH ED. (2017) FBC |LFS
1/28/15 |UPDATE TO 5TH ED. (2014) FBC

4/04/13 [UPDATED D.P./GLAZING

4 14/11/19 [REVISE FOR NEW HARDWARE

NOJ/ DATE

M N~

REVISIONS

DATE: 8/2/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15817.2

SHEET 1 oF 5

© 2012 R.W. BUILDING CONSULTANTS INC.



CON| SINVLIINSNDOD gaNiaing

‘MY 2102

€186 ‘ON V'O 3d8d SNOISIAZY
L616°659°CL8 ON suoyd SNOILLOS SSOdI A8 31vd_[ON o~
oot . cAn WWOLLIA % YINOZIYOH — o~ s S0
S6SEE 14 ‘OSUIPA ‘0£Z Xod ‘O'd @u S ONIZV19/'d'0_G31vadn| £1/%0/% | | |=|4|X|L| ~
il ..ﬂqwﬁ:mzoo oNigTINg AMBI3SSY 80 19vd | X | o84 (¥102) 03 HIG Ol 31vadn| si/ez/i| 2 |85 | 7], 8|8
’ . 0 9]
W\ WNOy L, S41] 084 (£102) "G3 HI9 01 31vadn|/1/10/9] € |\ R PN
/@&4@0\0 2, sOYEY "ON ‘I mopuip juewesoy bumsing Aun g 3UVMOYVH M3IN ¥0J 3sA3d|6L/ti/v | v |©] (& Elg | 4
S0 NoM0Y R, wpies w4 uopuk] S31¥3S 0088 RN
~ < HJOIUVIS O.W»“:Am pe.odely sjueWINDOQ | 110NA0dd SI81E13 m %
E ¢ - k\.ﬁ\.&
»i ¥ ¥
Y oy [ TSPIET
‘“\ acc K hl
\\\\ ;\%.Wm . .......\/ ///I
%, » TWiios sz/z/
T ("dAL) "aw3
NIW ./ 1-1
("dAL) "gw3
‘NIW F/1-1
[274
D*
2’4
i
Z
Z P
]
| o™
2
(72
(7]
— (7]
o0
i { M m
U3
" o
|2
& <
o >
O]
&
hY o= A
. e . »
-
3 zg 5
5| 3=t i
¥ g o
als L@ “
I
Q9
a5
L=
32
o =8
N.u — i O e
s O N2
E z o W
~xr 2 (5N}
~ @ Qo
™M|cN m
O
W
(72
(7]
[ 7¢]
o}
. w .
O Q ~ S
pov a4
i i <=
z 0 =
— )
] QI3
t N
N — sl 2
3 B o3
= B p
2 223 <
Y ToS
P o5
e B i N ;|
< 588
D h TAap /@
[} D w =
- - D6 L o™~
¥ go= o ()
S .M % m ® ;ﬁNv
Xl e =28 i
O o © 2 )
e 285
- < N E £25 2T
n 285 3
O 05 £ X .
glese =g «@
NG 8% D 3 5 T3
_v //// k m m .m .m -
m o m w o e A v
O = O = L.nl.v . . . v >
~8-309 AR .
.me&bm s e
-l Q&2 Ox SR,
§55555 ’ T
T s
2o Ne~

77 ‘BMPE-T LT85 T-TaN BN \sBulmesq - D\MOpUIM JuBase) Buimsing KU £185T-T\sieroiddy 19nPoid BPLIO - YALNINYINYId SJ0OUIM\SIURLDNY



CON SLANVLINSNGODG SNIaing

‘MY 2102 Q)

FEAREEN
g T

€3G2(ED

4
(18]
—
(e}
z
s - B .- - j*N}
S = ]
. r....»v L BN v‘” s
. N o ,. c N v [N . p—
e T Pl T ) Zg
333
2g T E >
S T3
|A‘ .
-~ 0D
T =
 oahe ]
() Le==

€186 ON 'v'O 3d8d
L616°659°E1a "o st L Shougas ssodo | S T¥0 ToN N
S6SES 714 "0oMIPA ‘0£Z x08 "0'd \N\w@ . S41 ONIZv19/°d'd_03Lvadn| £1/%0/% | L | | v} X N 5_
VAV FIVLINSNOD oNIaTIng AATBINISSY ¥O Ldvd | yir | 084 (»102) 03 HIG Ol 31vadn|si/8z/t | 2 | = .8
S47| 084 (£102) 'G3 HI9 Ol 3i1vadn| 21/10/9 | £ |\ g v
% 60¥Cy ‘ON ‘3'g| MOPUM JuBWESD) Bumsing Aup o IHYMOGVH MIN © lglgle T |
Q7 wuiuos 4 dopud] SIS 0088 e LULVZRE p LI L U
(), 2iAg pesndesd sjuswinoog 110N3a0¥d ..m. w m W w W
L0280 4
(‘dAL) 'gW3
NIW ./ 1-1 {"dAL) "gwW3
NIW ./ 1-1 w
o
O
pd
[ X
o ol
D v
o
m—
z m =
O
oo
LB
Wi oA
Sh@
vle
I~
Ol85
o nw 3
O==
<52
1 P.l.u Wd
S
wien
>S5
(274
= N
i
5
j18)

/i1
7

INTERIOR

/~3 "\ HORIZONTAL CROSS SECTION

w Shown Direct to Masonry

EXTERIOR

from the bottom of sash.
2. ltem N located in one hole of tie bar guide (1 fotal per guide).

1. Multi-point locks/keepers {4} located at 4.125", 25.75", 46.5" & 66.375"
3. liem J located in outside holes of operator base (2 total).

Notes:

4. Item J located in one hole of snubber {1 total per snubber).

o
Q
e
=
=

===

S
gt
i

EXTERIOR

/"1 \ HORIZONTAL CROSS SECTION

\_3/ Shown w/ 1X Buck

'€ 'BMP'E-T'LT8ST-14\uaind\sBumelq - D\Wopulm 1awased Bumsino [AUIA £T85T-14\s|eroiddy 19npoid epLold - YALNINYWHId 2109UIM\SIUBIDNY




RA\Clients\Wincore PERMANENT\A - Florida Product Approvals\FL-15817 Vinyl Outswing Casement Window\C - Drawings\Current\FL-15817.1-3.dwg, 4.2

6" W . I,[
i 6“ /’
4 (TYP.) TYP AL,
o % , (TYp) (TP (TYP) Y% .
N “‘ d. ‘4 ‘- i . ;_--‘-‘5" a, d .-z v_ »27 ,, . ‘ P A - - - \‘ -‘. ¢$ %
v e caaT ‘ R . ‘-~,"4 R e A : P :s.‘.gl 5‘_,1 Ja)‘ :%
R | I I i — _i — = : - ° = 2. x=
A A ! 1 R L : :-_'03@ Eg.‘z-‘-"ﬁ&
e } e 2 ’ I ‘o .:_(D.-‘.g E ‘O o
a9 L 2 7] - ; % .'.@\\2 O ;M
T 0 S 28 N TR
KA X a p 7 . +* ~ 1 00X
S = tre ‘ , ‘%, S D> 50
g S e =% R b Yty EPERS 26T g
MASONRY— - (WP) o — 1‘ - 20 (I ) 8% .%
OPENING — WNe s 9523
(TYP) g ] y LlEEe 5%y,
2X BUCK 1XBUCK Ul g =oon
. : ) “\\ 9 Baal
Lty P 15 [ Q o B
™~ ™~ % c g &
FRAME £ 3
2X BUCK—""| {TYP.) g S @
d I i o Ja
< =~ S
=l L o E - H = § (ZD
e G 2~y T R X i s | 5
“ " S a “ =|\ o~ To' ., '-C\l_ » % §
E: o | i | 7= e | <
=L R NN e I | NG Wg sy S
J e 1 1 i ._i - < 0o g g
et - IR T B R Se |3 &
. JRRRTEE P i‘\ S . i \ ; S . o< |8 o
NP N _ z 4 i S = 2 0= o =
e 2 2 2 A N
: : : «
BUCK ANCHORING = FRAME ANCHORING ~ FRAME ANCHORING ~ FRAME ANCHORING § S ol S
2X Buck 1X Buck Direct to Masonry ol & |k 2
42570C. 42570.C. 4250.C. o] =~ |o
//_\\ {THRU OPERATOR) s {THRU OPERATOR) @ {THRU OPERATOR) (g Em’] x g E
| @ o | T e olo
i ] B|e
> % HIND
- T 2x BUCK o N
U 2XBUCK( K @ % % & & o
(N)1xBuck o Lt & 22 ke
2 x OIN
- DIRECT TO & 1XBUCK D L,, SBE3 E
| I MASONRY {t SEE KEEPER DIRECTTO Q i W % = N E
DETAL ] MASONRY ! 1 ot g i
TIE BAR GUIDE DETAIL - ~ | 3 S ol|o 2
CONCRETE ANCHOR NOTES: . ‘ % ‘ ’ SNUBBER DETAIL ' Wil =
1. Concrete anchor locations at the comers may be adjusted to maintain the min. e in o [} [
edge disfance to mortar joinfs. 3 SEETIE BAR GUIDE & @ é 55 S
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to . i DETAIL ] o~ o fm
maintain the min. edge distance to mortar joints, additional concrete anchors % >>\§ E
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 2 1 N JIF g
3. Concrete anchor table: . i ) 3o >§
7 B = o ( wfm|w]-[S
<3 9} : B =z
o L — oA 8/2/12
mw 3/18" - SCALE:  N.T.S.
® " 1-1/4" 2" 4 e SEE SNUBBER
TAE':CON 1/4 “ / h DETAIL DWG. BY: JK
co . 3/““ 1-1/4" 1 4 # CHK. BY: LFS
ULTRACON 1/4 DRAWING NO.:
WOOD SCREW INSTALLATION NOTES: KEEPER DETAIL SNUBBER LOCATIONS FL-15817.2
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of LOCK JAMB KEEPER LOCATIONS 4Total .
wood screws fo prevent the splitfing of wood. SHEET 4 oF 5 _

© 2012 R.W. BUILDING CONSULTANTS ING.



" /
BILL OF MATERIALS VLA 1" THICK GLASS Ve,
MEM# | DESCRIPTION MATERIAL 1/8" ANNEALED ‘%;’?_ :m’)
A |1XBUCK (SG >=0.42) WOOD /— g g.g2"
B | 2XBUCK (SG >=0.42) WOOD U N g AIR SPACE g g 2=t
C | 1/4"MAX. SHIM SPACE - S 1/8" ANNEALED ST
D 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL ~  0.090" SAFLEX® PVB %‘;0\\\\ g § 8 é
£ | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE INTERLAYER » 380
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 \ a0z
F | #8 X 2-1/2" MODIFIED TRUSS HEAD (7/16" @) SMS (1-3/8" MIN. EMBEDMENT) STEEL 1/8" ANNEALED Net 9x2%
G| #8X2-1/2"PFH WOOD SCREW (7/8"MIN. EMB] STEEL INTERCEPT SPACER NI ¥
H_ | #8X1/2" PPHSMS STEEL 1) GLAZING DETAIL SIKAFLEX-552 A ClEsy 5925
J | 3/16"X3-1/4" PFH ELCO OR ITW CONCRETE SCREW STEEL Wie ¥ A%%H
K | #8 X 2-1/2" PPH WOOD SCREW (1-1/2" MIN. EMB.) STEEL 1/2" GLASS BITE § 2 S
L | #8X 3" PFH SMS (1-5/16" MIN. EMB.) STEEL 3 Bui @%
M | 3/16" X 2-3/4"PFH ELCO OR ITW CONCRETE SCREW . STEEL | , 1" THICK GLASS , o -
N | 3/16" X 3-3/4"PFH ELCO OR ITW CONCRETE SCREW STEEL { /— 1/8" TEMPERED 3 %
1 FRAME* PVC ) £ =
2 TSASHF Ve X g AR SPACE = § -
3 | GLAIZING BEAD* PVC s FANEAD o8 | 8k
7 | WEATHERSTRIP AMESBURY (CS 120 33-SEAL) FOAM 0.090" SAFLEX®PVB o | Lo
8 | WEATHERSTRIP AMESBURY (12300 SEAL) VINYL INTERLAYER LRSI oSS
9 | WEATHERSTRIP ULTRA FAB .250 (PILE - 250 - KP52) VINYL Seg |5 2
10 | MULTI-POINT LOCK (TRUTH) 24.33.32.004 - 1/8" ANNEALED © 3 14 3o
12 OPERATOR HANDLE {TRUTH) 50.10.00.011 - INTERCEPT SPACER 50 3 xl k<
21 | TIE BAR GUIDE (TRUTH) 32384 ‘ - G2 GLAZING DETAIL SIKAFLEX-552 3 R
22 | TIE BAR {TRUTH) 12926 - e $ |35
23 | KEEPER (TRUTH) - 1/2" GLASS BITE ol
24 | SNUBBER (TRUTH) (SASH/FRAME) 22999 - 1" THICK GLASS L 5|3 [
26 | #8 X 1/2' PFH SMS 5.3. A] r 1/8" TEMPERED
27 | OPERATOR (TRUTH STANDARD, MAX. CLEAR OR STAINLESS STEEL) STEEL —

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY
EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS".

—

1/8" ANNEALED
0.090" SENTRYGLAS® INTERLAYER

:é——— AIR SPACE
s

REVISIONS

1/8" ANNEALED

INTERCEPT SPACER
SIKAFLEX-552

2.39"
@ﬁ
i
IEF

“_[ |_—1AF36 (1-1/2" Brick Mould) T

' C) GLAZING DETAIL

1/28/15 lUPDATE TO 5TH ED. (2014) FBC
4/04/13 [UPDATED D.P./GLAZING

6/01/17 |UPDATE TO 6TH ED. (2017) FBC
NOJ| DATE

4 | 4/11/19 |REVISE FOR NEW HARDWARE

4 , e 3 B
| 325 —slr =11 X X
5 =31, .. JOL [ rlzj—iig‘f_"f‘:‘gg’ JL‘L r'} 0.75u L2135 hand
FRAME . 1 OATE: 8/2/12
~ 1 sl N.T.S.
AF59 (Masonry Flange 1) V672 (Masonry Flange 2) ——T owe. BY:  JK
CHK. BY: LFS
GLAZING BEAD DRAWING NO.:
OPTIONAL COSMETIC FLANGES FL—15817.2

SHEET 5 oF 5

Ri\Clients\Wincore PERMANENT\A - Florida Product Approvals\FL-15817 Vinyl Outswing Casement Window\C - Drawings\Current\FL-15817.1-3.dwg, 5.2

© zo12 R.W. BuUIlLDiNG CONSULTANTS ING,



